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INFORMATICS PRACTICES
CLASS XII 
Time allowed: 3 hours




Maximum Marks: 70
Instructions:
(i) All questions are compulsory.

(ii) Section A consists of 30 marks.

(iii) Section B and Section C are of 20 marks each.

(iv) Answer the questions after carefully reading the text.
SECTION A
1. Answer the following questions

(a) Differentiate between open source software and free software?
2
(b) What is feasibility study with reference to SDLC? Explain.

2
(c) Differentiate between ER modelling and object modelling 
technologies?








3
(d) What is data ware housing? How it is useful for organization?

3
2. Answer the following questions

(a) Define Recordset and all its types. How we can apply the recordset in a project?








3
(b) Differentiate using a suitable example, between MsgBox ( ) and InputBox ( ) functions in Visual Basic?




2
(c) Differentiate between SDI and MDI form in Visual Basic?

2
(d) What is Modules in Visual Basic? Explain all three modules in Visual Basic.









3
3. Answer the following questions.
(a) How is the primary key Constraint different from the Unique Constraint?








2
(b) What are Cursor attributes? What do these attributes evaluate to when associated with IMPLICIT and EXPLICIT cursors? Write a PL/SQL block to find the factors of a number entered by user.


4
(c) What is the difference between bind variables and substitution variables?








2
(d)  What are the different types of triggers? Explain with an example. 
2
SECTION B
4.  Consider the form given below and answer the following questions:
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(a)  The default value of txtPrinciple, txtRate, txtTime should be set to zero, 
 
when the form is loaded.






1
(b)  Create a function, which returns the Total amount based on the following 

 formula:









4
If optSI is selected, Total Amount= Principle+(Principal * Rate *Time)/100
If optiCI is selected, Total Amount = Principle(1+Rate/100)Time


(c)  Call the function on click event of cmdCaluulate and stores the value in 
       txtTotalAmount text box.






1
(d)  Write a procedure, which fills lstEMI with EMI as many times as the 

  number of months. Where EMI= Total Amount



4







 Time
5. Answer the following questions:
(a) Write a visual basic procedure which takes a number as argument and 
      displays whether it is prime or not. A prime is one which is not divisible 
      by any number other than 1 and itself. 




4
(b) Write the output of the following program fragment: 


2
Function Tip% (Byref x as integer, optional Byval y as integer = 10) 
If x mod y =0 then

 
x=x+1

Tip = x

Else 

y=y-1

Tip = y

Endif

End function

Private sub cmdOk_ Click (  )

Dim  P as integer, Q as integer

P=40

Q=20
Q=Tip(P,Q)

Print  P ,Q

P = Tip( Q)

Print P,Q

End Sub

(c)  Find the errors from the following code segment and rewrite, the Corrected 

 code underlining the correction made: 




2
Private Sub Command1_Click ()
Dim p = 1 As Integer, i As Integer

For i = 1 UpTo 50

p = p + 1

If p = 5 Then

p = 1

Display "P is equal to 5"

Else

Display "P is not equal to 5"

Loop i

End Sub
(d)  Change the following code using FOR without affecting the  output
2
Dim count, ans

ans=1

count=20

Do 
ans=ans* count

Count = count-2

Loop until count <=10

Print ans
SECTION-C
6. Answer the following questions:
(a) Write the output produced by the following PL/SQL code segment when 

gross_sale entry by the user is 3850.





2


VARIABLE amount NUMBER;



DECLARE


actual_sale NUMBER (9,2):= &gross_sale;


BEGIN



IF actual_sale> 2000 THEN



actual_sale:= actual_sale – 500;



ELSE




actual_sale:= actual_sale – 100; 



END IF;



:amount= actual_sale;



END;



/



PRINT amount

(b) 
Find the errors in the following PL/SQL code and rewrite the corrected 

 
code underlining the correction made:




2



DECLARE





v_no  Emp.Ename & ROWTYPE;





v_sal NUMBER (7,2)=1000;




BEGIN




LOOP





SELECT sal TO v_sal FROM Emp WHERE Eno=v_no;





v_no = v_no + 1;





EXIT FOR v_no > 5;




END LOOP;




END;

(c)  
Explain the usage of %TYPE attribute in variable declaration in a 


PL/SQL block within the help of an example.



2
(d) 

Write a PL/SQL procedure that calculates and displays the volume of a 




cuboid. The procedure takes three parameters for length, width and 




height 
of the cuboid respectively. The last two parameters are optional 



having a default value of –1. If the last two parameters are not passed 



then the volume of a cube having sides equal to the first parameter is to 




be calculated.








 4
7. 
Answer the questions based on the table Transactions given below:
Table : Transactions
	Column Name
	Data Type
	Size
	Constraint

	Invoicenumber
	Number
	10
	Primary Key

	Itemcode
	Number
	10
	Referenced from item Table

	Transactiondate
	Date
	--
	Not null

	Transactionmode
	Varchar2
	10
	Allowed Values : SALE, PURCHASE

	Transactionunits
	Number
	5
	>0


(a)  
Write SQL command to create the table Transactions including its 
       
constraints.








2
(b)  
Write SQL command to display Invoicenumber, Transactiondate, 


Transactionunits and Itemcode from Transactions table whose Itemcode 


is between 1001 to 1028.






2
(c)   
Write a PL/SQL block  that accepts the desired invoice number through 


a substitution variable and  delete all the records matching with the 


accepted invoice number from Transactions table.


4
(d)  
Write SQL command to create view Item_view which contains  Invoice 

Number, Item Code,Transaction Mode whose transation date is between 

15/08/2006 to 31/12/2006 






2
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